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THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # i E (A5
TEAE R
= 1 32,272, 501
EEy ISl Y
= 1 30, 224, 422
EE AR E T
= 1 5,012, 460
/)Y - MR E 10m=19cm-3.5 FEIIEAERF -V B
TUARMIAF & " & 10m
VN 30 167, 082 5,012, 460
Heh-77 iR T
= 1 18, 580, 750
ot b AL AR DSF80C+SMAC V417
m 1, 000 2, 355 2, 355, 000
e Hb R LR SMAC )/ 90
m 200 766. 6 153, 320
e Hb R LR SM40C  J/4#) 90
m 200 993 198, 600
ot b LR SM100C  JvA#) 97
m 3, 000 1,392 4,176, 000
SRS LR SMAC )/ 90
m 100 998 99, 800
SRS LR SM100C  JvA#) 97
m 100 1,623 162, 300
HBRZE LR SMLOOCYE )/ A9y =77
Pty =
| 100 72,710 7,271, 000
HBRZE LR DSF80C+SMAC /441y
Pty =
1| 10 111, 325 1,113, 250
S pfFa-h (SCHY) SM ¥t 4C 5m
VN 10 9,393 93, 930
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Her-77 VB 57-7" LLF
(F5% D )
& T 10 45, 777 457,770
Her-77 VB 257-7" LAF
(F5% D H)
& T 10 72, 285 722, 850
Her=7" VR IR 2000 B0 F
*Fm) 10 23, 493 234, 930
Her=7" VR IR 1000 BT
*Fm) 10 84, 325 843, 250
Hh=7" M8 R R 200000 F
g7 10 16, 868 168, 680
W=7 M EAR IR 1002 2L F
g7 10 53, 007 530, 070
Ser-7" B L
= 1 2, 089, 400
ot b AL AR AR 2 DSF80+SM4C
(R fE )
m 1, 000 180. 5 180, 500
St HL R E AR R SM100C
(R fE )
m 3, 000 180. 5 541, 500
P ST S —T s RfEH
oty v=i - )
1| 100 13,674 1, 367, 400
B AR L
= 1 111, 451
AR T
= 1 111, 451
Bk E¥
= 1 4, 430, 361
Kl — T NEB R B A 2 ARG
= 1 4, 430, 361
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[fTan
= 1 2,048, 079
RIEE BT
= 1 2,048, 079
AR
= 1 2,048, 079
B T HE
= 1 32,272, 501
BTl E:
= 1 3,216, 709
B ST ¢
= 1 55, 568
Htre m
= 1 55, 568
BB FEART -IMERE
= 1 55, 568
MR R (L)
= 1 3, 161, 141
Wi
= 1 35, 489, 210
BTk X=giiv oy
= 1 17, 045, 594
G E
= 1 28, 351
Hl MR
= 1 28, 351
R 5]
= 1 52, 563, 155
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= 1 9, 676, 845
Tk
= 1 62, 240, 000
THE B 2 %8
= 1 6, 224, 000
TG
= 1 68, 464, 000
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